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Cluster: 0132 ptr; resid: 0.29; r/c: 32/75
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upstream meme PSSM #1; e=26
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−500 −400 −300 −200 −100 −1
nad6NA

49144−0.01
15952−0.06
43813−0.09

6231−0.10
40124−0.12
44226−0.20
47595−0.28
14850−0.28
44922−0.32
47416−0.33
41231−0.52
47765−0.57
49148−0.58
14712−0.59
16904−0.61
43550−0.63
48852−0.77
45274−0.79
14322−0.80
43217−0.83
47856−0.85
44040−1.11
32491−1.22
45340−1.50
54748−4.84
41894−4.99
46562−5.76

9017−6.58
14924−7.98
40844−17.56
49994−17.56

log10(P) upstream meme1 2 log10(P.clust)=−2.53; 32 seqs; 32 uniq
c(0.5, 2.5)
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